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Choose the best following sentence (a) or (b).

1. Multi-criteria analysis was carried outto identify the most preferential
location for a ten-hectare school.

a Criteria of importance included human health, cost, and environmental
risk.

Better than (b) because it starts with 'known” information (Topic reiteration).
2. The aim of the experiment s to test the validity of the “energy gap” theory of
semiconductor resistance.

b This theory states that charge carriers in the semiconductor can be in one
of two energy states, separated by an energy gap Eg.

Better than (a) because it starts with known’ information (zigzag).

3. Economic changes may also signify increasing social complexity, especially
the emergence of full time craftsmen.
a Craft specialisation can be seen from concentrations of artefacts relating to
different crafts.

Better than (b) because it starts with ‘known’ information (zigzag).

4. Ifthe Government had taken a less neoliberal approach, its likely to have
been more successful in safeguarding thousands of jobs.
b This re-enforces how much of a threat neoliberalism poses to workers
in a globalising world, where different nation states react unilaterally to
safeguard/stimulate their economy over time.
Better than (a) because it starts with known’ information through the use
of the pronoun ‘this’. Itis hard to identify what ‘this’ refers to in sentence (2)
because itis too far from its reference.




